1 $5 2X & ## 5 / ONE TOUCH FITTINGS

B rA

- REXNSENEZATIEESEZS
-RRREmE, RAEZMAE

T

- ERAMTT, FEZMIRES~SR: BSPT (BIPTRIMZELL) | BSPP (BIGESESL) « NPTHREGL (BINSELL)

-2RE: ARLAMBREFNFERBEHEHEENHNS, BEFTE, SEREMK.

- BESEM: BYHEEF O KEHE, EEHIMHNEIT, EEE5RINERTILEHRSR
ERSTHRRFEENZEHYLR.

- REFE, RE-RSEETERREEXIURE

- MEFE, NAIrz. EATEMIESE, BMEHE4, 5, 6, 8, 10, 12, 1/8"E1/2", RAHIMS,
M5, M7, M10, M12% ., AIRE=MAENELER: BELE, PUVE, BHRELE.

) e

ARSI B A& HI#k

& Ve H JE45 78S (ANRE A HoAh SR sl iA)
HTRET 755mmHg (99%ELZ%)
TAEIREE -20—+80°C

TR TARESEA 0-10°CHE, H AN 20Bar, FAKTAEESHIMBREMEE
‘ K, AT CAH T HARGRAR . KL VIHEMSE. TAEE 08 0-6/10Bar.

1o FE Ak JBE 6. 60BELT;  REE: ANEEE; O FEEE SAPEER; <07 R TS
M (3% 75T FEPDM /FPM)

” ” ” ”
e B KR $E40 | M3x0.5 | M3x0.8 | M7x1 | G1/8 G1%4 G3/8 G1%2
(BSPP, M3, M5, MT) [, "qan | 0.06 | o.16 0.8 0.8 1.2 3 3.5
ERRBRGS
METRIC-BSPT(R) METRIC-BSPP(G) INCH-NPT
BC 06-01 -N BC 06 - GO01 BC-1/4 -N01
1 ! i == 1 1 1 1 1 l
CneTouch TuheDla _ Thread Size Piating OneTouch Tube Dia Thread Size Sleeve Color OnaTauch Tube Dia Thread Size Sleeve Colar
Fiing  TODESZE  METRICTHREAD Nickel Fiting  "GA0E size GIFF| THREAD Bhe Fitng  "CODE] SZE UNFTHREAD Black
04|74 copE| sizE 04 | =4 CODE[ sizE 532 | w5z CODE|  SIZE
08 | 8 Mg | Msxop  Steeve Cobr 08 | 8 01| GIB8 36 |oang U | 10-320NF
18|08 M6 [mexia —Due 08 | o8 Goz| G4 1/4]010a NPTTHRERD
10 10 MI1Z [M12X1.5 10 '_ 510 G03| Gya 5/16 516 CODE SIZE
2] a2 Mid M14%15 12 | 212 GM| Guz 38| 03/8 N1 | HPT1/8
14101 Wi [Mi6x1S B 1,2 B1/z N2 | NPTIM
16 [ 276  Mz2 [M22K15 16 | 18 N3 | NPTaE
_RIPT) THREAD N4 | NPT1/2
CODE| SIZE
01 | RiB__
02 | Rl
13 | Ris
04 | RIR




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BC 75 PTHE &L

3 R1/8 BC03-01 10 3 1 9.5 0.005
R1/8 BC04-01 10 3 11 9.5 0.005
4 R1/4 BC04-02 14 3 15 6.5 0.012
R3/8 BC04-03 17 3 18.5 8 0.024
R1/8 BC06-01 10 4 1 11.5 0.005
6 R1/4 BC06-02 14 4 15 8.5 0.011
R3/8 BC06-03 17 4 18.5 8.5 0.022
R1/2 BC06-04 21 4 23 9 0.043
R1/8 BC08-01 13 5 14 20 0.011
8 R1/4 BC08-02 14 6 15 17 0.014
R3/8 BC08-03 17 6 18.5 13 0.021
R1/2 BC08-04 21 6 23 12 0.040
R1/8 BC10-01 16 5 17.5 22.5 0.017
10 R1/4 BC10-02 16 7 17.5 20 0.017
R3/8 BC10-03 17 8 18.5 16.5 0.019
R1/2 BC10-04 21 8 23 14 0.037
R1/4 BC12-02 19 7 21 26.5 0.029
12 R3/8 BC12-03 19 9 21 24 0.028
R1/2 BC12-04 21 10 23 19.5 0.036
BC 01 GIB &
M3x0.5 BC03-M3 8 2.5 8.5 14.5 0.003
3 M5x0.8 BC03-M5 8 3 8.5 14  0.003
G1/8 BC03-G01 13 4.5 14 11.5 0.007
M3x0.5 BC04-M3 8 2.5 85 145 0.003
M5x0.8 BCO04-M5 8 3 8.5 14 0.003
4 G1/8 BC04-G01 13 4.5 14 11.5 0.007
G1/4 BC04-G02 16 55 17.5 10.5 0.011
G3/8 BC04-G03 20 5.5 22 13 0.009
. M5x0.8 BCO06-M5 10 . 3.5 11 16 0.005
a % G1/8 BC06-G01 13 4 4.5 14 13  0.007
6 G1/4 BC06-G02 16 4 55 175 12,5 0.011
E G3/8 BC06-G03 20 4 5.5 22 13 0.009
g G1/2 BC06-G04 24 4 7.5 26 20 0.018
= G1/8 BC08-G01 13 5 4.5 14 20.5 0.011
8 G1/4 BC08-G02 16 6 55 17.5 19.5 0.016
G3/8 BC08-G03 20 6 5.5 22 18 0.022
G1/2 BC08-G04 24 6 7.5 26 16.5 0.018
G1/8 BC10-G01 13 7 55 175 23 0.018
10 G1/4 BC10-G02 16 7 55 175 23 0.018
G3/8 BC10-G03 20 8 5.5 22 19.5 0.021
G1/2 BC10-G04 24 8 7.5 26 0.18 0.033
G1/4 BC12-G02 19 7 585 21 27.5 0.027
12 G3/8 BC12-G03 20 9 585 22 27 0.029
G1/2 BC12-G04 24 10 7 26 22.5 0.035
BC 75 N¥2 41
10-32UNF BC1/8-U10 8 2 8.5 8.5 0.005
NPT1/8 BC1/8-N01 1 2 12 8.5 0.005
1/8 NPT1/4 BC1/8-N02 14 2 15 9.5 0.012
NPT3/8 BC1/8-N03 18 3 19.5 8 0.025
10-32UNF BC1/8-U10 8 4 12 12 0.006
1/4 NPT1/8 BC1/4-N01 1 4 12 12 0.006
NPT1/4 BC1/4-N02 14 4 15 8.5 0.012
NPT3/8 BC1/4-N03 18 5 19.5 8.5 0.024
NPT1/8 BC3/8-N01 16 4 17.5 22.7 0.019
NPT1/4 BC3/8-N02 16 7 17.5 20.5 0.019
3/8 NPT3/8 BC3/8-N03 18 7 20 17.5 0.026
NPT1/2 BC3/8-N04 24 7 26 9 0.048
NPT1/4 BC1/2-N02 19 7 21 26.5 0.029
1/2 NPT3/8 BC1/2-N03 19 9 21 24 0.030
NPT1/2 BC1/2-N04 22 10 24 19.5 0.036




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BCF 14 PTIR &

3 R1/8 BCF03-01 9.5 13 22.5 0.010
R1/8 BCF04-01 9.5 13 225 0.010
4 R1/4 BCF04-02 135 16  26.5 0.016
2D, R3/8 BCF04-03 14 19 28.5 0.021
‘ ‘ R1/8 BCF06-01 9.5 13 245 0.011
‘ ‘ 6 R1/4 BCF06-02 135 16 28.5 0.016
R3/8 BCF06-03 14 19  28.5 0.021
H b R1/2__BCF06-04 19.5 24 285 0.024
— R1/8 BCF08-01 9.5 13 29  0.020
ATH k 8 R1/4 BCF08-02 135 16 36 0.027
e N\es R3/8 BCF08-03 14 19 36 0.030
o R1/2 BCF08-04 195 24 36 0.033
\ R R1/8 BCF10-01 9.5 13 32 0.033
1o _R1/4__ BCF10-02 13.5 16 36 0.037
R3/8 BCF10-03 14 19 36 0.040
R1/2 BCF10-04 19.5 24 415 0.045
R1/4 BCF12-02 135 16 40 0.092
12 = R3/8 BCF12-03 14 19 40 0.092
R1/2 BCF12-04 19.5 24 455 0.114
BCF 14 GI24
M3x0.5 BCF03-M3 5.5 8 19.5 0.005
3 M5x0.8 BCF03-M5 6.5 8 19.5 0.005
G1/8 BCF03-GO1 9.5 13 22.5 0.010
M3x0.5 BCF04-M3 5.5 8 19.5 0.005
M5x0.8 BCF04-M5 6.5 8 19.5 0.005
4 G1/8 BCF04-GO1 9.5 13 22.5 0.010
20, G1/4 BCF04-G02 135 16 26.5 0.016
‘ ‘ G3/8 BCF04-G03 14 19  28.5 0.021
‘ ‘ M5x0.8 BCF06-M5 6.5 8 245 0.008
G1/8 BCF06-GO1 9.5 13 245 0.011
H e 6 G1/4 BCF06-G02 135 16  28.5 0.016
S G3/8 BCF06-G03 14 19  28.5 0.021
G1/2 BCF06-G04 19.5 24 28.5 0.024
A S G1/8 BCF08-G01 9.5 13 29  0.020
— G1/4 BCF08-G02 135 16 36 0.027
\ R \ 8 —Gas BCF08-GO3 14 19 36 0.030
G1/2 BCF08-G04 19.5 24 36 0.033
G1/8 BCF10-GO1 9.5 13 32 0.033
10 _G1/4 BCF10-G02 135 16 36 0.037
G3/8 BCF10-G03 14 19 36  0.040
G1/2 BCF10-G04 19.5 24 415 0.045
G1/4 BCF12-G02 135 16 40 0.092
12 = G3/8 BCF12-G03 14 19 40 0.092
G1/2 BCF12-G04 19.5 24 455 0.114
BCF 14 N#2 4
10-32UNF BCF1/8-U10 6.5 9 19.5 0.010
2D, 1/ —_NPT1/8 BCF1/8-NO1 9.5 14 225 0.010
NPT1/4 BCF1/8-N02 135 17.5 26.5 0.016
T = NPT3/8 BCF1/8-N03 14 21 28.5 0.021
10-32UNF BCF1/8-U10 6.5 9 245 0.011
. NPT1/8 BCF1/4-NO1 9.5 14 245 0.011
H o V4 —NPT1/4 BCF1/4-N02 135 17.5 285 0.016
T,j Bl k NPT3/8 BCF1/4-N03 14 21 285 0.021
AT R s NPT1/8 BCF3/8-NO1 9.5 14 32 0.033
JHERNY 38 NPT1/4 BCF3/8-N02 135 175 36 0.037
‘ R ‘ NPT3/8 BCF3/8-N03 14 21 36 0.040
NPT1/2 BCF1/4-N04 195 26 415 0.045
NPT1/4 BCF1/2-N02 135 17.5 40 0.092
1/2 ~ NPT3/8 BCF1/2-N03 14 21 40  0.092
NPT1/2 BCF1/2-N04 19.5 26 455 0.114




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BL 09 PTIE 4L

3 R1/8  BL03-01 10 85 135 14 0.006
R1/8  BL04-01 10 85 135 14  0.006
4 R1/4  BL04-02 14 8.5 14 14 0.012
R3/8 BL04-03 17 85 135 14 0.024
L R1/8  BL06-01 10 105 155 16 0.005
— 5 R1/4  BL06-02 14 105 16 16 0.011
Vel - R3/8 BL06-03 17 105 16 16 0.022
: @D R1/2 BL06-04 21 10.5 16.5 16.5 0.043
! o \ ) —+ R1/8 BL08-01 10 135 19 19 0.011
5 2G 8 R1/4 BL08-02 14 135 18 18 0.014
ﬁ\i R3/8 BL08-03 17 135 18 18 0.021
== \R R1/2  BL08-04 21 13.5 19.5 19.5 0.040
R1/8  BL10-01 15 16 23 23 0.017
1o _RI4__BL10-02 15 16 22 22 0.017
R3/8 BL10-03 17 16 22 22 0.019
R1/2 BL10-04 21 16 22 22 0.037
R1/4  BL12-02 17 19 25 25  0.029
12 ~ R3/8 BL12-03 21 19 25 25  0.028
R1/2 _ BL12-04 21 19 25 25 _ 0.036
BL 99 G245
M3x0.5 BLO3-M3 25 8 85 15 14.5 0.002
3 M5x0.8 BL03-M5 35 8 85 135 14 0.002
G1/8 BL03-GO1 5 13 85 13 14 0.006
M3x0.5 BL04-M3 25 8 85 15 145 0.002
M5x0.8 BL04-M5 35 8 85 13.5 14 0.002
4 ~ G1/8 BL04-G0O1 5 13 85 13 14 0.006
G1/4 BL04-G02 55 16 8.5 13 14 0.011
L | G3/8 BL04-GO3 5.5 20 85 155 14 0.022
o | M5x0.8 BL06-M5 35 8 10.5 155 16 0.003
/Tﬁ i - G1/8 BL06-GO1 5 13 105 15 16 0.006
H L 1§ ne? 6 G1/4 BL06-G02 55 16 105 15 16 0.011
G3/8 BL06-G03 55 20 105 155 16 0.022
® % Ele G1/2 BL06-G0O4 7 24 105 16 16 0.028
Al S G1/8 BL08-GO1 5 13 135 20.5 23 0.009
R g _G1/4 BL08B-G0O2 55 16 135 18.5 23 0.012
G3/8 BL08-GO3 5.5 20 13.5 18.5 23 0.017
G1/2 BL08-G0O4 7 24 135 19 23 0.027
G1/8 BL10-GO1 5 13 16 23.5 26.5 0.014
1o _G1/4 BL10-G02 55 16 16 235 26.5 0.014
G3/8 BL10-GO3 55 20 16 22 26.5 0.017
G1/2 BL10-G04 7 24 16 22 26.5 0.027
G1/4 BL12-G02 55 16 19 265 31 0.016
12~ G3/8 BL12-G03 55 20 19 25 31 0.019
G1/2 BL12-G04 7 24 19 25 31 0.029
BL 09 N#2 4
10-32UNF BL1/8-U10 5 84 135 14 0.007
1/g —_NPT1/8_ BL1/BNOT 11 8.4 135 14 0.007
| L | NPT1/4 BL1/8-N02 14 84 14 14 0.016
i} NPT3/8 BL1/8N03 18 84 135 14 0.019
4l i1y 10-32UNF_BL1/4-U10 5 10.5 155 16  0.007
s W | I 2D 1ja __NPT1/8_ BL1/4NOT_ 11 105 155 16 0.007
-4 NPT1/4 BL1/4N02 14 105 16 16 0.017
he % LILG NPT3/8 BL1/4N03 18  10.5 16 16 0.021
S S NPT1/8 BL3/8N01 15 13.5 23  26.5 0.015
R a3 __NPT1/4  BL3/8N02 15 135 23 265 0.017
NPT3/8 BL3/8-N03 18  13.5 22  26.5 0.024
NPT1/2 BL1/4N04 22 13.5 23  26.5 0.045
NPT1/4 BL1/2-N02 16 16 25 31 0.031
1/2 — NPT3/8 BL1/2-N03 18 16 25 31 0.050
NPT1/2 _BL1/2-N04 _ 22 16 26 31 0.092




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BLL 29 PTHE &

3 R1/8 BLL03-01 10 8.5 23 19  0.021
R1/8 BLL04-01 10 8.5 23 19  0.021
4 R1/4 BLL04-02 14 85 235 19 0.038
R3/8 BLL04-03 17 85 235 19 0.038
L | R1/8 BLL06-01 10 10.5 27 22.5 0.037
‘ - 6 R1/4 BLL06-02 14 10.5 27.5 22.5 0.044
@; oD R3/8 BLL06-03 17 10.5 285 225 0.046
il R1/2 BLL06-04 21 10.5 28.5 225 0.046
H lec R1/8 BLL08-01 13 135 345 295 0.026
i 7 R1/4 BLL08-02 14 135 325 295 0.031
R3/8 BLL08-03 17 13.5 33 29.5 0.041
* s R1/2 BLL08-04 21 13.5 33 29.5 0.042
R R1/8 BLL10-01 13 16 39.5 34.5 0.031
10 R1/4 BLL10-02 15 16 39.5 34.5 0.035
R3/8 BLL10-03 17 16 39.5 34.5 0.045
R1/2 BLL10-04 21 16 39.5 34.5 0.060
R1/4 BLL12-02 19 19 455 40.5 0.060
12 R3/8 BLL12-03 19 19 455 40.5 0.080
R1/2 BLL12-04 21 19 455 40.5 0.095
BLL 69 G4
M3x0.5 BLLO3-M3 2.5 8 85 225 19 0.009
3 M5x0.8 BLLO3-M5 35 8 85 23 19 0.009
G1/8 BLL03-GO1 5 13 8.5 225 19 0.009
M3x0.5 BLL04-M3 25 8 85 225 19 0.009
M5x0.8 BLL04-M5 3.5 8 85 225 19 0.009
L 4 G1/8 BLL04-GO1 5 13 8.5 225 19 0.009
i G1/4 BLL04-G02 55 16 85 225 19 0.014
F; i 20 G3/8 BLL04-G03 55 20 85 225 19 0.025
1 =7 M5x0.8 BLLO6-M5 3.5 10 10.5 27 23 0.009
" ]LG G1/8 BLL06-GO1 5 13 10.5 27 23 0.012
6 G1/4 BLL06-G02 5.5 16 105 27 23 0.017
G3/8 BLL06-G03 5.5 20 10.5 27.5 23 0.035
[ }\ G1/2 BLL06-G04 7 24 105 28 23 0.035
Al 1 \S G1/8 BLL08-GO1 5 13 135 36 29.5 0.025
T R . G1/4 BLL08-G02 55 16 135 33 295 0.026
G3/8 BLL08-G03 5.5 20 13.5 33 295 0.035
G1/2 BLL08-G04 7 24 135 33 29.5 0.035
G1/8 BLL10-G0O1 5 13 16 40.5 34.5 0.038
10 G1/4 BLL10-G02 5.5 16 16 40.5 34.5 0.038
G3/8 BLL10-G03 55 20 16 40.5 34.5 0.040
G1/2 BLL10-G04 7.5 24 16 40.5 34.5 0.042
G1/4 BLL12-G02 55 19 19 44.5 40.5 0.060
12 G3/8 BLL12-G03 55 20 19 42 40.5 0.065
G1/2 BLL12-G04 7.5 24 19 42 40.5 0.080
BLL 29 N#g 4t
10-32UNF BLL1/8-U10 5 8.5 23 19  0.021
L 1/g —NPT1/8 BLL1/8N0O1_ 11 8.5 23 19  0.021
1 NPT1/4 BLL1/8-N02 15 85 235 19 0.038
[—y; 155 NPT3/8 BLL1/8-N03 185 8.5 235 19 0.038
N [ e 10-32UNF BLL1/8-U10 5 10.5 27 22.5 0.037
H P " NPT1/8 BLL1/4-NO1 10 10.5 27 225 0.037
NPT1/4 BLL1/4-N02 15 10.5 27.5 225 0.044
—— NPT3/8 BLL1/4-N03 18.5 10.5 285 225 0.046
& NPT1/8 BLL3/8-N01 14 16 39.5 34.5 0.031
S NPT1/4 BLL3/8-N02 16 16 39.5 345 0.035
R 3/8 —NPTa/8 BLL3/6NO3 185 16 39.5 34.5 0.045
NPT1/2 BLL3/8-N04 23 16 39.5 345 0.060
NPT1/4 BLL1/2-N02 21 19 455 40.5 0.060
1/2  NPT3/8 BLL1/2-N03 21 19 455 40.5 0.080
NPT1/2 BLL1/2-N04 23 19 455 40.5 0.095




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BLF 92 PTIE &L

3 R1/8 BLF03-01 85 13 85 23 14 0.012
R1/8 BLF04-01 85 13 85 23 14 0.009
4 R1/4 BLF04-02 115 16 85 27 14 0.012
R3/8 BLF04-03 12 20 85 28 14 0.017
L R1/8 BLF06-01 85 13 105 25 16 0.011
| 1 5 R1/4 BLF06-02 115 16 105 29 16 0.011
: Hl R3/8 BLF06-03 12 20 105 30 16 0.017
| @D R1/2 BLF06-04 16 24 105 38 16 0.037
: v R1/8 BLF08-01 85 13 135 28 23 0.014
H I Lx 8 R1/4 BLF08-02 115 16 135 32 23 0.017
AT;‘;‘ H NS R3/8 BLF08-03 12 19 135 33 23 0.022
Ho R1/2 BLF08-04 16 24 135 41 23 0.037
LR R1/8 BLF10-01 85 13 16 32 26.5 0.029
10 R1/4 BLF10-02 11 16 16 34.5 26.5 0.029
R3/8 BLF10-03 12 19 16 35 26.5 0.034
R1/2 BLF10-04 16 24 16 41 26.5 0.037
R1/4 BLF12-02 11 16 19 38 30.5 0.040
12 R3/8 BLF12-03 12 19 19 38.5 30.5 0.041
R1/2 BLF12-04 16 24 19 43.5 30.5 0.045
BLF 92 G4
M3x0.5 BLF03-M3 6.5 8 85 21 14 0.009
3 M5x0.8 BLFO3-M5 65 8 85 21 14 0.009
G1/8 BLF03-GO1 85 13 85 23 14 0.012
M3x0.5 BLF04-M3 65 8 85 21 14 0.009
M5x0.8 BLF04-M5 6.5 8 85 21 14 0.009
4 G1/8 BLF04-G01 85 13 8.5 23 14 0.009
L G1/4 BLF04-G02 115 16 85 27 14 0.012
| L G3/8 BLF04-G03 12 20 85 28 14 0.017
; 155 M5x0.8 BLF06-M5 6.5 8 105 23 16 0.009
* ] s G1/8 BLF06-G01 8.5 13 105 25 16 0.011
y 6 G1/4 BLF06-G02 115 16 105 29 16 0.011
H 71[ S[”—G G3/8 BLF06-G03 12 20 105 30 16 0.017
A G1/2 BLF06-G04 16 24 10.5 38 16 0.037
G1/8 BLF08-GO1 8.5 13 13.5 28 23 0.014
R g _G1/4 BLF08-G02 115 16 135 32 23 0.017
G3/8 BLF08-G03 12 19 135 33 23 0.022
G1/2 BLF08-G04 16 24 135 41 23 0.037
G1/8 BLF10-GO1 8.5 13 16 32 26.5 0.029
jo _G1/4 BLF10-G02 11 16 16 34.5 26.5 0.029
G3/8 BLF10-G03 12 19 16 35 26.5 0.034
G1/2 BLF10-G0O4 16 24 16 41 26.5 0.037
G1/4 BLF12-G02 11 16 19 38 30.5 0.040
12  G3/8 BLF12-G03 12 19 19 38.5 30.5 0.041
G1/2 BLF12-G04 16 24 19 43.5 30.5 0.045
BLF 92 N2 &
10-32UNF BLL1/8-U10 6.5 8 8.5 21 14 0.009
NPT1/8 BLF1/8-N0O1 85 14 85 23 14 0.009
L V8 ~NPT1/4 BLF1/8N02 115 17.5 85 27 14 0012
\ ] NPT3/8 BLF1/8-N03 12 21 8.5 28 14 0.017
T M — 10-32UNF BLL1/8-U10 6.5 8 10.5 23 16 0.011
,\ | e 14 _NPT1/8 BLF1/4N01_85 14 105 25 16 0.011
y NPT1/4 BLF1/4-N02 115 17.5 105 29 16 0.011
H I aG NPT3/8 BLF1/4-N03 12 21 10.5 30 16 0.017
AT;‘;‘ NS NPT1/8 BLF3/8-N0O1 85 14 16 32 26.5 0.029
o NPT1/4 BLF3/8-N02 11 17.5 16 34.5 26.5 0.029
LR 3/8 —\PTa/s BLF3/8N03 12 21 16 35 26.5 0.034
NPT1/2 BLF3/8-N04 16 26 16 41 26.5 0.037
NPT1/4 BLF1/2-N02 11 17.5 19 38 30.5 0.040
1/2  NPT3/8 BLF1/2-N03 12 21 19 38.5 30.5 0.041
NPT1/2 BLF1/2-N04 16 26 19 43.5 30.5 0.045




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BT 08 PTH2 41
3 R1/8 BT03-01 10 8.5 15.5 14 0.007
R1/8 BT04-01 10 8.5 15.5 14 0.007
4 R1/4 BT04-02 14 8.5 16 14 0.015
R3/8 BT04-03 17 8.5 16 14 0.015
R1/8 BT06-01 10 10.5 17.5 16 0.009
R1/4 BT06-02 14 10.5 18 16 0.017
L : 6 R3/8 BT06-03 17 105 18 16 0.019
— ] I R1/2 BT06-04 21 10.5 18 16 0.019
oD ol oD R1/8  BT08-01 10 135 22 23 0.016
-39 15 I w— Li 8 R1/4 BT08-02 14 13.5 21 23 0.019
3 s 2 R3/8 BT08-03 17 13.5 21 23 0.020
= AR R1/2 BT08-04 21 13.5 21 23 0.020
R R1/8 BT10-01 10 16 24 26.5 0.021
10 R1/4 BT10-02 15 16 24 26.5 0.021
R3/8 BT10-03 17 16 24 26.5 0.024
R1/2 BT10-04 21 16 24 26.5 0.028
R1/4 BT12-02 15 19 27 31 0.040
12 R3/8 BT12-03 17 19 27 31 0.092
R1/2 BT12-04 21 19 27 31 0.109

BT 98 G241

M3x0.5 BT03-M3 25 8 85 17.5 14 0.004
3 M5x0.8 BT03-M5 35 8 85 17.5 14 0.004
G1/8 BT03-G0O1 5 13 85 15 14 0.008
M3x0.5 BT04-M3 25 8 85 17.5 14 0.004
M5x0.8 BT04-M5 35 8 85 17.5 14 0.004
4 ~ G1/8 BT04-G0O1 5 13 85 15 14 0.008
G1/4 BT04-G02 55 16 85 15 14 0.013
G3/8 BT04-G03 55 20 85 15 14 0.015
5 : M5x0.8 BTO6-M5 3.5 8 105 195 16 0.006
’f‘ —TW——‘i‘ G1/8 BT06-G0O1 5 13 105 17 16 0.010
aD i o0 | 6 G1/4 BT06-G02 55 16 105 17 16 0.015
H e U G3/8 BT06-G03 5.5 20 105 17 16 0.017
(11T lec G1/2 BT06-G04 7.5 24 105 17 16 0.019
A (] RS G1/8 BT08-GO1 4.5 13 13.5 23.5 23 0.017
g _G1/4 BT08-G0O2 55 16 135 215 23 0.020
G3/8 BT08-G03 5.5 20 13.5 21.5 23 0.023
G1/2 BT08-G04 7.5 24 135 215 23 0.026
G1/8 BT10-G01 5 13 16 26 26.5 0.021
4o _G1/4 BT10-G02 55 16 16 26 26.5 0.021
G3/8 BT10-G03 55 20 16 24 26.5 0.024
G1/2 BT10-G04 7.5 24 16 24 26.5 0.039
G1/4 BT12-G02 55 16 19 29 31 0.088
12~ G3/8 BT12-G03 55 20 19 27 31 0.081
G1/2 BT12-G04 7.5 24 19 27 31 0.092
BT 08 Ni8 4t
10-32UNF BT1/8-U10 8 85 155 14 0.004
NPT1/8 BT1/8N01 11 85 155 14 0.007
) ) V8 —NPT1/4 BT1/8N02 15 8.5 16 14 0.015
3 3 NPT3/8 BT1/8N03 18.5 8.5 16 14 0.015
i 7TW7‘ﬁ 10-32UNF BT1/8-U10 8 10.5 17.5 16 0.004
e AU ®® | | 474 —NPT1/8 BT1/4-NO1 11 10.5 17.5 16  0.009
E— oo NPT1/4 BT1/4N02 15 10.5 18 16 0.017
% s NPT3/8 BT1/4N03 18.5 105 18 16 0.019
N NPT1/8 BT3/8-N01 11 16 24  26.5 0.021
NPT1/4 BT3/8N02 15 16 24 265 0.021
3/8 —NPT3/8 BT3/8N03 185 16 24 265 0.024
NPT1/2 BT3/8N04 23 16 24 265 0.028
NPT1/4 BT1/2N02 15 19 27 31 0.040
1/2 ~ NPT3/8 BT1/2-N03 18.5 19 27 31 0.092
NPT1/2 BT1/2-N04 _ 23 19 27 31 0.109




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BST 03 PTHE &

3 R1/8 BST03-01
R1/8 BST04-01
4 R1/4 BST04-02

—q R3/8  BST04-03
oD, R1/8  BST06-01 10 105 27.5 10 17.5 0.009
= s __Ri/4__BST06:02 14 10.5 28 105 17.56 0.017
R3/8 BST06-03 17 105 28 105 17.5 0.019
R1/2 _BST0604 21 105 28 105 17.5 0.019
H 4 m—T R1/8  BST08-01
| o0 | | , _R14_BST0802
HA H R3/8 _BST0803
L ]N\ 2G R1/2 _BST0804
LJ S R1/8  BST10-01
R R1/4  BST10-02

R3/8 BST10-03
R1/2 BST10-04
R1/4 BST12-02
12 R3/8 BST12-03
R1/2 BST12-04

BST 93 G2 4

M3x0.5 BST03-M3
3 M5x0.8 BST03-M5
G1/8 BST03-GO1
M3x0.5 BST04-M3
‘ L M5x0.8 BST04-M5
2D 4  G1/8 BST04-GO1
= G1/4 BST04-G02
T—— G3/8 BST04-G03
M5x0.8 BST06-M5 3.5 8 10.5 29.512.5 17.5 0.007

H G1/8 __BST06-GO1__ 5 13 105 27 10 17.5 0.010
} fl — | 6 _G1/4 BST06-G02 55 16 10.5 27 10 17.5 0.015

T ; 2D G3/8 _ BST06-G03_5.5 20 10.5 27 10 17.5 0.015

H1 T G1/2___BST06-G04 7.5 24 105 27 10 17.5 0.017

1 2G G1/8  BST08-GO1
A %%J\i g _G1/4 BST08.G02
R G3/8 BST08-G03
G1/2  BST08-G04
G1/8 BST10-GO1
G1/4 BST10-G02
G3/8  BST10-G03
G1/2  BST10-G04
G1/4 BST12-G02
12 ~ G3/8 BST12-G03
G1/2 _ BST12-G04

BST 03 N34
L 10-32UNF BST1/8-U10
B 1/g _NPT1/8_ BST1/8N01
120, NPT1/4 BST1/8-N02

5 = NPT3/8 BST1/8-N03
10-32UNF BST1/8-U10 8 85 295 10 17.5 0.009
NPT1/8 BST1/4-NO1 11 10.5 27.5 10 17.5 0.009

H —— ‘ 4 — 174 NPT1/4 BST1/4N02 15 10.5 28 10.5 17.5 0.017
T \J D NPT3/8 BST1/4-N0O3 18.5 10.5 28 10.5 17.5 0.019
H1 w NPT1/8 BST3/8N01

NPT3/8 BST3/8-N03
NPT1/2 BST3/8-N04
NPT1/4 BST1/2-N02
1/2 NPT3/8 BST1/2-N03
NPT1/2 BST1/2-N04

\ilaj 45 _NPT1/4_BST3/8N02
R




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BWT 48 PTHRE 4L
3 R1/8 BWT03-01 10 325 85 175 9 0.010
— R1/8 BWT0401 10 325 8.5 17.5 9 0.010
G T 4 ~ R1/4 BWT04-02 14 33 85 175 9 0.018
R3/8 BWT0403 17 33 85 175 9 0.018
LN R1/8 BWT06-01 10 395 105 21.5 11 0.012
s __RI4_BWT06-02 14 40 105 215 11 0.019
oo o0 R3/8 BWT0603 17 40 10.5 215 11 0.021
i R1/2 BWT06-04 21 40 105 215 11 0.021
R1/8 BWT0801 13 56.5 13.5 28 14.5 0.033
g _ RI4_BWT0802 14 555 13.5 28 14.5 0.037
R3/8 BWT08-03 16 485 135 28 14.5 0.040
R1/2 BWT08-04 20 48.5 13.5 28 14.5 0.040
‘ R1/8 BWT1001 13 60 19 39 20 0.040
1o _R1/4_BWT1002 14 60 19 39 20 0.040
%ﬁf& R3/8  BWT1003 16 605 19 39 20 0.043
) \& R1/2 BWT1004 20 61 19 39 20 0.045
R1/4 BWT1202 14 66 19 39 20 0.045
12 ~ R3/8 BWT1203 19 66 19 39 20 0.045
R1/2 BWT12:04 21 66 19 39 20 0.047

BWT 58 G2 4
M3x0.5 BWTO03-M3 2.5 8 325 85 175 9 0.010
3 M5x0.8 BWTO03-M5 35 8 325 85 175 9 0.010
G1/8 BWT03-G01 5 13 32 85 17.5 9 0.010
M3x0.5 BWT04-M3 25 8 325 85 175 9 0.010
L M5x0.8 BWTO04-M5 3.5 8 325 85 175 9 0.010
SO 4 G1/8 BWT04G01 5 13 32 85 17.5 9 0.010
ON) K G1/4 BWT04-G02 55 16 32 85 175 9 0015
<~ G3/8 BWT04-G03 5.5 20 32 85 17.5 9 0.015
M5x0.8 BWTO06-M5 3.5 10 39.5 10.5 21.5 11 0.011
G1/8 BWT06-GO1 5 13 39 105215 11 0.014
e 6 G1/4 BWT06-G02 5.5 16 39 10.521.5 11 0.019
G3/8 BWT06-G03 5.5 20 39 10.521.5 11 0.021
G1/2 BWT06-G04 7.5 24 39 10.521.5 11 0.021
G1/8 BWT08-GO1 5 13 56 13.5 28 14.5 0.033
8 G1/4 BWT08-G02 5.5 16 55 13.5 28 14.5 0.039
G3/8 BWT08-G03 6 19 54 13.5 28 14.5 0.040
G1/2 BWT08-G04 7 24 54 13.5 28 14.5 0.040
G1/8 BWT10-GO1 5 13 63.5 16 33 17 0.040
AT ES 1o _G1/4 BWT10-G02 55 16 63.5 16 33 17 0.040
G3/8 BWT10-G03 6 20 63.5 16 33 17 0.043
G1/2 BWT10-G04 7 24 65 16 33 17 0.045
G1/4 BWT12-G02 5.5 16 68 19 39 20 0.045
12 ~ G3/8 BWT12-G03 6 20 68 19 39 20 0.045
G1/2 BWT12-G04 7 24 70 19 39 20 0.047

BWT 48 N2 4

L
\

G " 10-32UNF BWT1/8U10 8 325 85 175 9 0.010
NPT1/8 BWT1/8N01 10 32.5 85 175 9 0.010
N 8 NPT1/4 BWT1/8N02 14 33 85 175 9 0.018
NPT3/8 BWT1/8N03 17 33 85 175 9 0.018
P 10-32UNF BWT1/8U10 8 39.5 10.5 21.5 11 0.012
— 1ja _NPT1/8_ BWT1/4NO1_10 395 105 21.5 11 0.012
NPT1/4 BWT1/4N02 14 40 10.5 21.5 11 0.019
NPT3/8 BWT1/4N03 17 40 10.5 215 11 0.021
NPT1/8 BWT3/8N01 13 60 19 39 20 0.040
45 _NPTI/4_BWT3/BNO2 14 60 19 39 20 0.040
‘ NPT3/8 BWT3/8N03 16 60.5 19 39 20 0.043
NPT1/2 BWT3/8N04 20 61 19 39 20 0.045
%ﬁi\i NPT1/4 BWT1/2N02 14 66 19 39 20 0.045
L LN 1/2  NPT3/8 BWT1/2N03 19 66 19 39 20 0.045
NPT1/2 BWT1/2N04 21 66 19 39 20 0.047




RGN EFESL / ONETOUCH FITTINGS
B B zsbodsL T

BMF 36 PTI2 4

3 R1/8 BMF03-01 9.5 13 13
R1/8 BMF04-01 9.5 13 13
4 R1/4 BMF04-02 13.5 13 16
R3/8 BMF04-03 9.5 13 16
R1/8 BMF06-01 9.5 15 15

17 11.5 10.5 0.025
17 115 10.5 0.025
17 15.5 10.5 0.028
17 15.5 10.5 0.028
19 10.5 12.5 0.035

K ¢ _R1/4_BMF06-02 13.5 15 17 19 15.5 12.5 0.040
R3/8 BMF06-03 12 15 22 19 16 12.5 0.041

— R1/2  BMF06-04 19.5 15 22 19 16.0 12.5 0.041

T == — R1/8 BMF08-01 9.5 18 17 20.5 10.5 15.5 0.048
R — ‘1 ree et g R1/4 BMF08-02 13.5 18 17 20.5 14.5 15.5 0.055
T i R3/8 BMF08-03 14 18 17 20.5 14.5 15.5 0.060
s A \s2 R1/2 BMF08-04 19.5 18 17 20.5 14.5 15.5 0.060

2@@@@00@\1@\1\]\]\1

R1/8 BMF10-01 9.6 22 22 23 14.5 18.5 0.063
R1/4 BMF10-02 13.5 22 22 8.5 23 14.5 18.5 0.063
R3/8 BMF10-03 14 22 22 85 23 16 19 0.073
R1/2  BMF10-04 19.5 22 22 85 23 16 18.5 0.073
R1/4 BMF12-02 13.5 26 25 8.5 27 16 22.5 0.092
12 R3/8 BMF12-03 14 26 25 8.5 27 16 22.5 0.092
R1/2 BMF12-04 19.5 26 27 8.5 27 21.522.5 0.118

BMF 36 GI2 4

M3x0.5 BMF03-M3 6.5 13 13

3 M5x0.8 BMFO3-M5 6.5 13 13
G1/8  BMF03-GO1 9.5 13 13
M3x0.5 BMF04-M3 6.5 13 13
M5x0.8 BMF04-M5 6.5 13 13

4 G1/8 BMF04-G01 9.5 13 13
G1/4  BMF04-G02 13.5 13 16

L L2 G3/8  BMF04-G03 9.5 13 16

K M5x0.8 BMFO06-M5 6.5 15 15
. G1/8 BMF06-G01 9.5 15 15

17 11.5 10.5 0.018
17 115 10.5 0.018
17 11.5 10.5 0.025
17 115 10.5 0.018
17 115 10.5 0.018
17 11.5 10.5 0.025
17 15.5 10.5 0.028
17 15.5 10.5 0.028
19 10.5 12.5 0.028
19 10.5 12.5 0.035

&0 80901 0| B DO 05| o5 [ a0 | 00| 00 | 00|~ | 00| 00 [~~~ |~ [~ ~|~ |~
o|a|a|u|a|o|o

E=En = 6 ~ Gi/4 BMF06-G02 13.5 15 17 19 155 12.5 0.040
R | o o G3/8  BMF06-G03 12 15 22 19 16 12.5 0.041
L= 7 G172 BMF06-G04 195 15 22 19 16.0 12.5 0.041
sl 1-=. G1/6  BMF08-GO1 95 18 17 8 205 10.5 155 0.048

o _G1/4 BMF08-G02 135 18 17 & 20.5 14.5 155 0.055
G3/8  BMF08-G03 14 18 17 8 20.5 14.5 155 0.060
G172 _BMF08-G04 195 18 17 8 20.5 14.5 155 0.060
G1/8 BMF10-G01 9.5 22 22 23 14.5 18.5 0.063
G1/4  BMF10-G02 135 22 22 23 14.5 18.5 0.063
0 G358 BMF10-G03 14 22 22 25 16 19 0073
G1/2  BMF10-G04 195 22 22 23 16 18.5 0.073
G1/4  BMF12-G02 13.5 26 25 27 16 22.5 0.092
12 T G3/8  BMF12-G03 14 26 25 27 16 22.5 0.092
G1/2  BMF12-G04 195 26 27 27 215225 0118
BMF 36 N#24;
10-32UNF BMF1/8-U10 7 13 13 7 17 115 10.5 0.025
NPT1/8 BMF1/8-N01 11 13 13 7 17 115 10.5 0.025
L1 L2 8 NPT1/4 BMF1/8-N02 14 13 16 7 17 155 10.5 0.028
L NPT3/8 BMF1/8-N03 11 13 16 7 17 15.5 10.5 0.028
10-32UNF BMF1/8U10 7 15 15 8 19 105 12.5 0.035
T /_‘7:7 1/4 NPT1/8 BMF1/4-N01 11 15 15 8 19 10.5 12.5 0.035
RL | g|'3 aT NPT1/4 BMF1/4-N02 14 15 17 7 19 155 12.5 0.040
ffffff | He= = NPT3/8 BMF1/4N03 13 15 22 8 19 16 12.5 0.041
s1) \_& NPT1/8 BMF3/8-N01 11 22 22 85 23 14.5 18.5 0.063
A NPT1/4 BMF3/8-N02 14 22 22 8.5 23 14.5 18.5 0.063
3/8 NPT3/8 BMF3/8-N03 15 22 22 85 23 16 19 0.073
NPT1/2 BMF3/8-N04 21 22 22 85 23 16 18.5 0.073
NPT1/4 BMF1/2N02 14 26 25 8.5 27 16 22.5 0.092
1/2 NPT3/8 BMF1/2-N03 15 26 25 85 27 16 22.5 0.092
NPT1/2 BMF1/2-N04 21 26 27 8.5 27 21.522.5 0.118




B BzutuEsk

BOC 81 PTH2 4L

iR B FESL / ONETOUCH FITTINGS

BOC 81 G2 &y

3 R1/8  BOC03-01 3 10 14 0.005
R1/8 BOC04-01 3 10 14 0.005
4 R1/4  BOC04-02 3 10 14 0.005
R3/8 BOC04-03 3 10 14 0.005
R1/8 BOC06-01 4 10 16 0.006
6 R1/4 BOC06-02 4 10 16 0.006

M3x0.5 BOCO3-M3 2.5 - 10 14 0.005

3 M5x0.8 BOCO03-M5 3 2.5 10 14 0.005
G1/8 BOCO03-G01 4.5 3 10 14 0.005
M3x0.5 BOC04-M3 2.5 - 10 14 0.005
M5x0.8 BOC04-M5 3 2.5 10 14 0.005

4 G1/8 BOC04-G01 4.5 3 10 14 0.005
G1/4 BOCO04-G02 5.5 3 10 14 0.005

G3/8 BOC04-G03 5.5 3 10 14 0.005
M5x0.8 BOCO06-M5 3.5 2.5 10 16 0.006

6 G1/8 BOCO06-G01 4.5 4 10 16 0.006
G1/4 BOCO06-G02 5.5 4 10 16 0.006

BOC 81 NPTIB &

10-32UNF_ BOC1/8-U10 2.5 10 14 0.005
NPT1/8  BOC1/8-N01 3 10 14 0.005

18 NPT1/4  BOC1/8-N02 3 10 14 0.005
NPT3/8  BOC1/8-N03 3 10 14 0.005
10-32UNF  BOC1/8-U10 3 10 14 0.005

1/4  NPT1/8  BOC1/4-N01 4 10 16 0.006
NPT1/4 BOC1/4-N02 4 10 16 0.006




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BGT 19 PTH2 4

R1/8  BGT04-01
4 R1/4  BGT04-02
R3/8  BGT04-03
R1/8  BGT06-01

R1/4 BGT06-02 17 13.5 21 26.5 0.031

L L 6
2 2 R3/8 BGT06-03
— l R1/2 BGT06-04
W wﬁ jﬁ gt R1/8 BGT08-01
o (|~ i
il = 8 R1/4 BGT0802 13 1 17 20 0.024
Ej lec R3/8 BGT08-03
R1/2 BGT08-04
R1/8 BGT10-01
10 _R1/4_ BGT10-02

R3/8 BGT10-03 20 16 245 31 0.045
R1/2  BGT10-04
R1/4  BGT12-02

12 R3/8 BGT12-03 20 19 245 31 0.045
R1/2  BGT12-04

BGT 19 GI24

M3x0.5 BGT04-M3
M5x0.8 BGT04-M5

4 G1/8 BGT04-G01
G1/4 BGT04-G02

G3/8 BGT04-G03
M5x0.8 BGT06-M5
G1/8 BGT06-G0O1

L
2
S
o 6 G1/4 BGT06-G02 5.5 17 135 21 26.5 0.031
H ot I ‘ ‘ I G3/8 BGT06-G03
1l J( \‘L |
—

[Nl

4
2o G1/2 _ BGT06-G04
" Toc G1/8 _ BGT08-GO1
G1/4 __BGT08G02 5.5 17 16 24.5 27 0.033

-o
=

8 G3/8 BGT08-G03
G1/2 BGT08-G04
G1/8 BGT10-GO1
10 G1/4 BGT10-G02

G3/8 BGT10-G0O3 5.5 20 16 24.5 31 0.045
G1/2 BGT10-G04
G1/4 BGT12-G02

12 G3/8 BGT12-G03 5.5 20 19 24.5 31 0.045
G1/2 BGT12-G04

BGT 19 N2 4

10-32UNF  BGT1/8U10
NPT1/8 BGT1/8N01
NPT1/4 BGT1/8N02
NPT3/8 BGT1/8N03
10-32UNF  BGT1/4U10
NPT1/8 BGT1/4N01 13 11 17 20 0.024
NPT1/4 BGT1/4N02

— Ej TS NPT3/8 BGT1/4N03

1/

[e]

W o= —le | | 114

NPT1/8 BGT3/8N01
NPT1/4 BGT3/8N02
NPT3/8 BGT3/8N03 20 16 245 31 0.045
NPT1/2 BGT3/8N04
NPT1/4 BGT1/2-N02

1/2  NPT3/8 BGT1/2-N03 20 19 245 31 0.045
NPT1/2 BGT1/2-N04

3/8




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BA 49 PTIE &L

R1/8 BA04-01
4 R1/4 BA04-02

R3/8 BA04-03

s L1y L2 R1/8 BA06-01
N | o _RU4_BAG6-02 17 135 21 95 27 145 0.034

W | R3/8  BA06-03

1 R12  BA06-04

- j lec R1/8  BA08-01
R R1/4 BA0802 17 16 21 95 27 145 0.034

R3/8__ BA08-03
ool R1/2__ BA08-04
R1/8_ BA10-01
R1/4 _BA10-02 17 16 245 11 31 17 0.066
i — R3/8 _ BA10-03
R1/2___BA10-04
R1/4 _ BA12-02
12 __R3/8__ BA12-03
R1/2__ BA12-04

A |
=]

BA 49 GH2 &L

M3x0.5 BA04-M3
M5x0.8  BA04-M5

s ## 4 G1/8 BA04-G01
[ S ‘ G1/4__BA04-G02
1 G3/8  BA04-G03
H M5x0.8  BA06-M5
LM G1/8  BA06-GO1
oG 6 G1/4 BA06-G02 55 17 135 21 9.5 27 14.5 0.034
A
L e G3/8 _ BA06-G03

G1/2 BA06-G04
G1/8 BA08-GO1
G1/4 BA08-G02 5.5 17 16 21 9.5 27 14.5 0.034
-1 G3/8 BA08-G03
G1/2 BA08-G04
I G1/8 BA10-GO1
,,,,,,,,,,,,,ngi G1/4 BA10-G02 5.5 17 16245 11 31 17 0.066
I G3/8 BA10-G03
G1/2 BA10-G04
G1/4 BA12-G02
12 G3/8 BA12-G03
G1/2 BA12-G04

BA 49 NI &4

10-32UNF BA1/8-U10

NPT1/8 BA1/8-N01

1/8

' NPT1/4__ BA1/8-N02
-

NPT3/8 BA1/8-N03

“Ej” lec 10-32UNF BA1/4-U10
R NPT1/8 BA1/4-N01 13 105 165 7 185 115 0.013

1/4 NPT1/4 BA1/4-N02

NPT3/8 BA1/4-N03

NPT1/8 BA3/8-NO1

NPT1/4 BA3/8-N02 17 16 245 U1 31 17 0.066

[

3/8

]

NPT3/8 BA3/8-N03

NPT1/2 BA3/8-N04

NPT1/4 BA1/2-N02

1/2 _NPT3/8 BA1/2-N03

NPT1/2 BA1/2-N04




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BUC 06
3 BUCO3 8.5 25 0.002
4 BUC04 8.5 25 0.002
| L ‘ 6 BUCO06 10.5 28.5 0.004
0 _ o 8 BUCO08 13.5 38 0.007
oD @b 10 BUC10 16 42 0.009
+ L n— | [12 BUC12 19 50.5 0.015
loc 1/8 BUC1/8 8.5 25 0.002
5/32  BUC5/32 8.5 25 0.002
1/4 BUC1/4 10.9 29.5 0.002
5/16__ BUC5/16 13.5 38 0.007
3/8 BUC3/8 16 42 0.006
1/2 BUC1/2 22 55 0.015

BUL 02
3 BULO3 8.5 19 0.002
L 4 BUL 04 8.5 19 0.004
6 BULO6 10.5 22.5 0.007

0.015

3 8 BULO8 ; }
I i 10 BUL10 . 0.017
leo 12 BUL12 19 40.5 0.045
1/8 BUL1/8 8.5 19 0.002
— 5/32  BUL5/32 8.5 19 0.002

|-eo]

-3
_‘A
>l

o
w(n
N
oo

1/4 BUL1/4 11 23.5 0.002
5/16 BUL5/16 13.5 29.5 0.015
3/8 BUL3/8 16 34 0.006
1/2 BUL1/2 22 35 0.018

BUT 04
3 BUTO3 8.5 19 14.5 0.004
L L 4 BUTO04 8.5 19 14.5 0.004
2 2 6 BUTO6 10.5 22.5 17.5 0.006
e [ [ 8 BUTO8 13.5 295 23 0.009
S N | k) 10 BUT10 16 34.5 26.5 0.014
H — 12 BUT12 19 40.5 31 0.019
‘ ‘ 1/8 BUT1/8 8.4 19 14.5 0.003
‘M‘ 5/32  BUT5/32 8.5 19 14.5 0.004
114 BUT1/4 11 23 24 0.003
5/16  BUT5/16 13.5 295 23 0.009
3/8 BUT3/8 16 34 26 0.009
1/2 BUT1/2 22 46 35 0.026

*
I

BY 40

3 BY03 17.5 8.5 28.5 9 0.004

4 BY04 17.5 8.5 28.5 9 0.004

6 BY06 21.5 10.5 35 11 0.007

8 BY08 28.5 13.5 45 14.5 0.013

7R 10 BY10 33 16 53 17 0.020
il 12 BY12 39 19 57 17 0.025
S 1/8 BY1/8 17.5 8.5 28.5 9 0.004

. 5/32 BY5/32 17.5 8.5 28.5 9 0.004

1/4 BY1/4 21.5 11 35 11 0.007

5/16 BY5/16 28.5 13.5 45 14.5 0.013

3/8 BY3/8 39 16 53 17 0.020

1/2 BY1/2 46 22 60 17 0.028




RIER EIZ L / ONETOUCH FITTINGS

B BzutuEsk

BLM 39
3 BLMO3 13 85 17 65 145 105 0.019
4 BLM04 13 85 17 65 145 105 0.019
6 BLMO6 15 105 195 7 175 125 0.024
8 BLMO8 18 135 24 8 23 155 0.035
10 BLM10 22 16 28 85 26 185 0.081
172 BLM12 26 19 33 85 31 225 0123
18 BLM1/8 13 85 17 65 145 105 0.019
532 BLM5/32 13 85 17 65 145 105 0.019
14 BLM1/4 15 105 195 7 175 125 0.024
5116 BLM5/16 18 135 24 8 23 155 0.035
3/8 BLM3/8 22 16 28 85 26 185 0.081
172 BLM1/2 28 19 33 85 31 225 0.123
BLJ 82
3 3  BLJO3
4 4 BLJOA
— 6 6 BLJO6B 105 265 7 17 16 0.003
T 1 — 8 8  BLJOB
AN . e 10 10  BLJ10
e | w 12 12 BLJ12
H2 i{ Ji 1/8 1/8 BLJ1/8
5/32 5/32 BLJ5/32
T S\ [ 14 14 BLIA
5116 5/16 BLJ5/16
3/8 3/8 BLJ3/8
172 1/2  BLJIR2
BMP 16
3 BMP03 13 55 15 10 10.5 0.018
4 BMP04 13 55 15 10  10.5 0.018
e L 6 BMP06 15 85 18 105 12.5 0.029
4 8 BMP08 18 145 25 135 155 0.037
10  BMP10
m:1aE'T i 1):1(7 ;Ber 12 BMP 12
T e — 1/8 BMP1/8 13 55 15 10 105 0.018
7 5/32 BMP5/32 13 55 15 10 105 0.018
1/4 BMP1/4 15 85 18 105 12.5 0.029
516 BMP5/16 18 145 25 135 155 0.037
3/8 BMP3/8
172 _BMP1/2
BMM 16
3  BMMO3 13 55 15 10  10.5 0.018
4  BMMO04 13 55 15 10 105 0.018
e 6  BMMO6 15 85 18 105 12.5 0.029
i 8  BMMO8 18 145 25 135 155 0.037
10 BMMA10
= 12 BMM12
o010 v ap o7 1/8 BMM1/8 13 55 15 10 10.5 0.018
|— 5/32 BMM5/32 13 55 15 10 105 0.018
s/ 1/4 BMM1/4 15 85 18 105 12.5 0.029
5/16 BMM5/16 18 145 25 135 155 0.037
3/8 BMM3/8
172 BMM1/2




B BzutuEsk

iR B FESL / ONETOUCH FITTINGS

BG 06
| L |
S
bot ey
2G2
BSF 04
' ﬁ% -
o || 73
2 4

6 4 BG06-04 11 8.5 28 0.008

8 4 BG08-04 13.5 13.5 38 0.010
6 BG08-06 14 13.5 38 0.012

10 6 BG10-06 16 16 42 0.018
8 BG10-08 16 16 42 0.020

12 8 BG12-08 19 19 50.5 0.031
10 BG12-10 19 19 50.5 0.022

1/4 5/32 BG1/4-5/32 11 10.9 29.5 0.010

5/16  1/4 BG5/16-1/4 14 11 38 0.012

3/8 1/4 BG3/8-1/4 16 11 41 0.016
5/16  BG3/8-5/16 16 16 41 0.016

12 3/8 BG 1/2-3/8 22 16 55 0.016

3 BSF03 8 10 23.5 37 0.006

4 BSF 04 8 10 23.5 37 0.006

6 BSF 06 8 11.2 23.5 40.5  0.007

8 BSF 08

10 BSF 10

12 BSF 12

1/8 BSF 1/8 8 10 23.5 37 0.006

5/32 BSF 5/32 8 10 23.5 37 0.006

1/4 BSF 1/4

5/16 BSF 5/16

3/8 BSF 3/8

1/2 BSF 1/2

BOF 00




i1 / SPEED CONTROLLERS

B Bzniinmw B

BSE 065 PTH2 4

RIB_ 10 16 36.5 425 145 22 9 10 0.021

4 _ R4 10 16 365 425 145 22 9 10 0.021

] R3/8 10 16 36.5 425 145 22 9 10 0.021

RIB_ 10 16 365 425 15 22 9 10 0.021

g _R14 10 16 36.5 425 15 20 8 10 0021

Ve R3/8 10 16 365 425 15 22 9 10 0.021

R12__ 10 16 365 425 15 22 9 10 0.021

" ) RIB__ 14 19 40 45 165 27 105 14 0.034
T it RIA 14 19 40 45 165 27 105 14 0.036
H1 ' - 8 R3/8 14 19 40 45 165 27 11 14 0.042
LI R12 14 19 40 45 165 27 11 14 0.042
L Ra R1/B 17 23 435 51.5 18 315 125 17 0.053

L L1 L o _RI4 17 23 435 515 18 315 125 17 0053

R3/8 17 23 435 515 18 315 125 17 0.055
R1/2 17 23 435 515 18 315 125 17 0.059
R1/4 17 23 435 515 18 35 125 17 0.056
12 R3/8 17 23 435 515 18 35 125 17 0.059
R1/2 17 23 435 515 18 35 125 17 0.064

BSE 060 G241

G8 5 10 16 38 44 16 22 9 10 0.021
4 GU4 55 10 16 38 44 16 22 9 10 0.021

ot G3/8 55 10 16 38 44 16 22 9 10 0.021
S M5x0.8 45 10 16 38 44 16 22 9 12 0.021
G1/8 45 10 16 38 44 16 22 9 12 0.021

S 6 Gl4 55 10 16 365 425 15 22 9 12 0.021

- G3/8 55 10 16 365 425 15 22 9 12 0.021

" - G12_ 55 10 16 365 425 15 22 9 12 0.021
py G1/8 55 14 19 415 48 18 28 105 17 0.035

. U= || g G614 55 14 19 415 48 185 28 105 17 0.037
G3/8 55 14 19 415 48 17 28 11 17 0.037

N\ st G12 55 14 19 415 48 17 28 11 17 0.037

A B G1/8 55 17 23 455 535 20 31.5 125 17 0.057
L1 L jo G4 55 17 23 455 535 20 315 125 17 0057

G3/8 55 17 23 455 54 20 315 125 17 0.059
G1/2 55 17 23 455 54 20 31.5 125 17 0.059
G1/4 55 17 23 455 54 20 35 125 17 0.063
12 G838 55 17 23 455 54 20 35 125 17 0.063
G1/2 75 17 24 455 54 20 35 13 17 0.065

BSE 065 N$24r

10-32UNF 11 16 36.5 425 145 22 9 10 0.021

! or ‘ 18 NPT1/4 11 16 36.5 425 145 22 9 10 0.021

T NPT3/8 11 16 36.5 425 145 22 9 10 0.021
NPT1/2 11 16 36.5 425 145 22 9 10 0.021

S 10-32UNF 11 16 36.5 425 15 22 9 10 0.021

y 4 1/ NPT1/8 11 16 36.5 425 15 22 9 10 0.021
Hliﬂi NPT1/4 11 16 36.5 425 15 22 8 10 0.021

T Mfﬂ NPT3/8 11 16 36.5 425 15 22 9 10 0.021
H1 NPT1/8 18.5 23 435 515 18 315 125 17 0.053
7% s1 38 NPT1/4 185 23 435 515 18 315 125 17 0.053
NR NPT3/8 185 23 435 515 18 315 125 17 0.055

L1 L NPT1/2 185 23 435 515 18 315 125 17 0.059
NPT1/4 185 23 435 515 18 35 125 17 0.056

1/2 NPT3/8 185 23 435 515 18 35 125 17 0.059

NPT1/2 185 23 435 515 18 35 125 17 0.164




W / SPEED CONTROLLERS

B BzZivnm

BSE 665 PTI2 4

2]

| o) 3 R18 7 25 275 115 18 0.011
F—H = R1/8 7 25 275 115 18 0.01

I e 4 R4 7 25 275 115 18 0.0M1

— EJ\ R3/8 7 25 275 115 18 0.01
T\ R1/8 7 25 275 115 19 0.012

Zl 6 —Ri 8 275 30 135 19 0.019

BSE 660 G2 4L

s 3 G1/8 5 7 235 295 115 18 0.012

2 M3x05 5 6 235 26 9 16.5  0.007

H 7 - M5x0.8 5 6 235 26 9 17 0.008
¥1 en 4 G118 5 7 235 295 115 18 0.012

* G1/4 55 7 235 295 12 18 0.012

Al EﬁJ G3/8 55 7 235 295 12 18 0.012
ﬂ N R M5x0.8 45 6 235 26 9 18 0.010
LLL— 6 G1/8 45 7 27 29.5 15 185  0.012
G1/4 55 8 30 325 12 19 0.019

BSE 665 N#2 4

10-32UNF 23.5 26 115 17 0.008

I

™

NPT1/8 25 27.5 1.5 18 0.011

6
7777777777 n 18 8
& ab NPT1/4 8 25 275 115 18 0.011
= NPT3/8 8 25 275 115 18 0.011
NS 10-32UNF__ 6 235 26 115 18 0.010
3. 14 NPT1/8 7 25 275 115 19 0012
‘ NPT1/4__ 8 275 30 135 19 0.019
B srsxam S
BCVU 96
4 BCVU9604
6 BCVU9606 105 22.5 0.007
- 8 BCVU9608
so[ Il |1 fles | [0 BCVUSBI0
i — LM* 12 BCVU9612

1/8 BCVU961/8

5/32  BCVU965/32

1/4 BCVU961/4

5/16  BCVU965/16

3/8 BCVU963/8

1/2 BCVU961/2




B[] 1R / NON-RETURN VALVES

B sBznwam

BCVU 85 PTH2 4

R1/8  BCVU8504-01
4 R1/4  BCVU8504-02

QD‘ R3/8 BCVU8504-03
‘ ‘ R1/8 BCVU8506-01 16 30.5 0.016
‘ ‘ 6 R1/4  BCVU8506-02 16 30.5 0.021

R3/8  BCVU8506-03
R1/2  BCVU8506-04
H o R1/8  BCVU8508-01

'GIDK 8 R1/4  BCVU8508-02

R3/8 BCVU8508-03

R1/2  BCVU8508-04

K \i R1/8  BCVU8510-01
10 R1/4 BCVU8510-02

E R3/8 BCVU8510-03

R1/2  BCVU8510-04
R1/4  BCVU8512-02
12 R3/8 BCVU8512-03
R1/2  BCVU8512-04

BCVU 84 G2 4

G1/8  BCVU84 04-G01
4 G1/4 BCVU84 04-G02

oD G3/8 BCVU8404-G03

= M5x0.8 BCVU84 06-M5
T = G1/8  BCVU8406-GOT 5 16 305  0.021
6 _ G1/4 BCVUB406-G02 5.5 16 305  0.023

G3/8 BCVU84 06-G03
G1/2  BCVU84 06-G04
H G1/8 BCVU8408-G01
G1/4 BCVU8408-G02
G3/8 BCVU8408-G03
G1/2  BCVU84 08-G04

IR \i G1/8  BCVU84 10-G01
R

G1/4 BCVU84 10-G02
G3/8 BCVU84 10-G03
G1/2  BCVU84 10-G04
G1/4 BCVU84 12-G02
12 G3/8 BCVU8412-G03
G1/2 BCVU84 12-G04

BCVU 85 N1 £t

‘_@.‘ 10-32UNF BCVU851/8-U10
18 NPT1/8  BCVU851/8-N01
NPT1/4  BCVU851/8-N02
NPT3/8 BCVU851/8-N03
10-32UNF BCVU851/4-U10

H - 14 NPT1/8  BCVUS85 1/4-N01
%\ NPT1/4  BCVU85 1/4-N02

NPT3/8 BCVU85 1/4-N03
NPT1/8  BCVUS853/8-N01
NPT1/4  BCVUB853/8-N02

- E 38 NPT3/8  BCVU853/8-N03
E NPT1/2  BCVUS85 3/8-N04
NPT1/4  BCVU85 1/2-N02

1/2 NPT3/8 BCVU85 1/2-N03
NPT1/2  BCVU85 1/2-N04




B[] 1R / NON-RETURN VALVES

B sBznwam

BCVU 95 PTHE &L

22,
H ””
Y
W
R
BCVU 94 G2 &;
22,
Was:
T s
- R
BCVU 95 N#2 &1
22
H ””
hd

R1/8  BCVU9504-01
4 R1/4  BCVU9504-02
R3/8  BCVU9504-03
R1/8 BCVU9506-01 16 30.5 0.016
6 R1/4  BCVU9506-02 16 30.5 0.021
R3/8  BCVU9506-03
R1/2  BCVU9506-04
R1/8  BCVU9508-01
8 R1/4  BCVU9508-02
R3/8  BCVU9508-03
R1/2  BCVU9508-04
R1/8  BCVU9510-01
10 R1/4 BCVU9510-02
R3/8 BCVU9510-03
R1/2  BCVU9510-04
R1/4  BCVU9512-02
12 R3/8  BCVU9512-03
R1/2  BCVU9512-04

G1/8

BCVU94 04-G01

G1/4

BCVU94 04-G02

G3/8

BCVU94 04 -G03

M5x0.8

BCVU94 06 -M5

G1/8

BCVU94 06 -G01

5

16

30.5

0.021

G1/4

BCVU94 06-G02

5.5

16

30.5

0.023

G3/8

BCVU94 06-G03

G1/2

BCVU94 06-G04

G1/8

BCVU94 08-G01

G1/4

BCVU94 08-G02

G3/8

BCVU94 08-G03

G1/2

BCVU94 08-G04

10

G1/8

BCVU94 10-G01

G1/4

BCVU94 10-G02

G3/8

BCVU94 10-G03

G1/2

BCVU94 10-G04

12

G1/4

BCVU94 12-G02

G3/8

BCVU94 12-G03

G1/2

BCVU94 12-G04

1/8

10-32UNF

BCVU95 1/8-U10

NPT1/8

BCVU95 1/8-N01

NPT1/4

BCVU95 1/8-N02

NPT3/8

BCVU95 1/8-N03

1/4

10-32UNF

BCVU95 1/4-U10

NPT1/8

BCVU95 1/4-N01

NPT1/4

BCVU95 1/4-N02

NPT3/8

BCVU95 1/4-N03

3/8

NPT1/8

BCVU95 3/8-N01

NPT1/4

BCVU95 3/8-N02

NPT3/8

BCVU95 3/8-N03

NPT1/2

BCVU95 3/8-N04

1/2

NPT1/4

BCVU95 1/2-N02

NPT3/8

BCVU95 1/2-N03

NPT1/2

BCVU95 1/2-N04






